



$$\vec{F}_i = q_i \vec{E}_i$$

$$\vec{E}_i = \frac{1}{4\pi\epsilon_0} \sum_{j \neq i} \frac{q_j (\vec{r}_i - \vec{r}_j)}{\|\vec{r}_i - \vec{r}_j\|^3}$$

a) revisemos una carga, digamos, la de arriba a la izquierda

$$\vec{E}_{21} = \frac{Q}{4\pi\epsilon_0 l^2} (-\hat{i})$$

$$\vec{E}_{31} = \frac{Q}{4\pi\epsilon_0 l^2} \hat{j}$$

$$\vec{E}_{41} = \frac{Q}{4\pi\epsilon_0 (\sqrt{2}l)^2} \left(-\frac{\hat{i}}{\sqrt{2}} + \hat{j} \right)$$

$$\vec{E}_{51} = \frac{q}{4\pi\epsilon_0 \left(\frac{\sqrt{2}}{2}l\right)^2} \left(-\frac{\hat{i}}{\sqrt{2}} + \hat{j} \right)$$

$$\vec{F}_1 = Q \sum_{j=2}^5 \vec{E}_{j1} = \frac{Q}{4\pi\epsilon_0 l^2} \left[Q + \frac{Q}{2\sqrt{2}} + \frac{2q}{\sqrt{2}} \right] (-\hat{i} + \hat{j})$$

$$\vec{F}_1 = 0 \Rightarrow Q \left(1 + \frac{\sqrt{2}}{4} \right) + \sqrt{2}q = 0 \Rightarrow \boxed{q = -\left(\frac{\sqrt{2}}{2} + \frac{1}{4} \right) Q}$$

$$b) U = \frac{1}{2} \sum_i q_i V_i ; V_i = \frac{1}{4\pi\epsilon_0} \sum_{j \neq i} \frac{q_j}{\|\vec{r}_i - \vec{r}_j\|}$$

Notemos que para (1), (2), (3) y (4), el resultado es el mismo.

$$U_1 = U_2 = U_3 = U_4 = \frac{1}{2} Q \cdot \frac{1}{4\pi\epsilon_0} \left(\frac{Q}{l} + \frac{Q}{l} + \frac{Q}{\sqrt{2}l} + \frac{q}{\frac{\sqrt{2}}{2}l} \right)$$

$$= Q \frac{1}{8\pi\epsilon_0 l} \left[Q \left(2 + \frac{\sqrt{2}}{2} \right) + q\sqrt{2} \right]$$

$$\text{para (5), } U_5 = \frac{1}{2} q \cdot \frac{1}{4\pi\epsilon_0} \cdot 4 \frac{Q}{\frac{\sqrt{2}}{2}l} = \frac{\sqrt{2}}{2} q Q$$

$$\Rightarrow U = 4 \cdot \frac{Q^2}{8\pi\epsilon_0 l} \left(2 + \frac{\sqrt{2}}{2}\right) + \frac{4Qq\sqrt{2}}{8\pi\epsilon_0 l} + \frac{Qq\sqrt{2}}{2\pi\epsilon_0 l}$$

$$= \frac{Q^2}{2\pi\epsilon_0 l} \left(2 + \frac{\sqrt{2}}{2}\right) + \frac{Qq\sqrt{2}}{\pi\epsilon_0 l}$$

$$\boxed{U = \frac{Q^2}{4\pi\epsilon_0 l} (4 + \sqrt{2}) + \frac{Qq\sqrt{2}}{\epsilon_0 l}} \quad \text{y } \boxed{W = U.}$$

$$\text{P2) } \vec{E} = \begin{cases} 0 & r < a \\ \frac{Qa}{4\pi\epsilon_0 r^2} \hat{r} & a < r < b \\ \frac{Qa + Qb}{4\pi\epsilon_0 r^2} \hat{r} & r > b. \end{cases}$$

$$\Rightarrow U = \frac{\epsilon_0}{2} \iiint |\vec{E}|^2 dV = \frac{\epsilon_0}{2} \iiint |\vec{E}|^2 r^2 \sin\theta dr d\theta d\phi$$

$$U = \frac{\epsilon_0}{2} \left[\int_0^{2\pi} \int_0^\pi \int_a^b \left(\frac{Qa}{4\pi\epsilon_0 r^2} \right)^2 r^2 \sin\theta dr d\theta d\phi + \int_0^{2\pi} \int_0^\pi \int_b^\infty \left(\frac{Qa + Qb}{4\pi\epsilon_0 r^2} \right)^2 r^2 \sin\theta dr d\theta d\phi \right]$$

$$U = \frac{\epsilon_0}{2} \cdot \frac{1}{(4\pi\epsilon_0)^2} \cdot 4\pi \cdot \left[Qa^2 \int_a^b \frac{dr}{r^2} + (Qa + Qb)^2 \int_b^\infty \frac{dr}{r^2} \right]$$

$$U = \frac{1}{8\pi\epsilon_0} \left[Qa^2 \left(-\frac{1}{r} \right) \Big|_a^b + (Qa^2 + 2QaQb + Qb^2) \left(-\frac{1}{r} \right) \Big|_b^\infty \right]$$

$$U = \frac{1}{8\pi\epsilon_0} \left[Qa^2 \left(\frac{1}{a} - \frac{1}{b} \right) + (Qa^2 + 2QaQb + Qb^2) \cdot \frac{1}{b} \right]$$

$$U = \frac{1}{8\pi\epsilon_0} \left[\frac{Qa^2}{a} + \frac{Qb^2}{b} + \frac{2QaQb}{b} \right]$$